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4. The length and breadth of a rectangle are in the ratio 3 : 1. If the breadth is 7 cm, then the length of the rectangle is:

A.  14 cm  B. 16 cm  C. 18 cm  D. 21 cm   E. 30 cm 
		


5. What ratio is equal to 15:20
F. 5 to 10	G. 18:25    H. 18, ⅔     J.18, 3/2     K. -18, -⅔ 
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1) Aframeis3.6inwideand 5.1 in tall. Ffit 2) If you can buy five bunches of fennel for

is enlarged to a height of 25.5 in, then how $11.50, then how many can you buy with
wide will it be? 534507

A) 51in B) 18in ISR B) 18

O 1275 D) 0.7in 015 D) 17

Answer each question and round your answer to the nearest tenth.

3) Santa Cruz and Kumba are 14 mi from
cach other. How far apart would the cities
‘be on amap that has a scale of 1.8
148 mi?

A) 19in B) 02in
O 115.1in D) 17in





